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QUESTION 1

Which two SCSI Bus Sharing modes are supported for a virtual SCSI adapter in vSphere 6.5? (Choose two.) 

A. Shared 

B. Dedicated 

C. Physical 

D. Virtual 

Correct Answer: CD 

 

QUESTION 2

Which two parameters are required when adding an iSCSI target to an iSCSI Software Adapter using Dynamic
Discovery? (Choose two.) 

A. The iSCSI device\\'s IP Address or Fully Qualified Domain Name 

B. The Port Number 

C. The iSCSI device\\'s iSCSI Qualified Name (IQN) 

D. The Default Gateway IP Address 

Correct Answer: AB 

 

QUESTION 3

Which Single Sign-On deployment mode should an administrator use for two 6.x vCenter Servers configured with linked
mode? 

A. Basic Single Sign-On with vCenter Server Heartbeat 

B. Multisite Single Sign-On 

C. Basic Single Sign-On 

D. Single Sign-On with Linked Mode 

Correct Answer: B 

 

QUESTION 4

Which two options can be monitored when creating a new Alarm Definition? (Choose two.) 

A. specific actions of a user 

Latest 2V0-602 Dumps | 2V0-602 Practice Test | 2V0-602 Study Guide                                2 / 3

https://www.passapply.com/2v0-602.html
https://www.passapply.com/2v0-602.html
https://www.passapply.com/2v0-602.html


https://www.passapply.com/2v0-602.html
2024 Latest passapply 2V0-602 PDF and VCE dumps Download

B. other alarms defined for the object 

C. specific conditions or state 

D. specific event occurring on the object 

Correct Answer: CD 

 

QUESTION 5

The error message below displays in the Summary tab for a host, even though there are two available uplinks for the
vSwitch hosting the VMkernel Port Management Network, providing redundancy: Host currently has no management
network redundancy Which three methods can be used after confirming the correct network configuration? (Choose
three.) 

A. Set the vSphere HA advanced option das.ignoreRedundantNetWarning to true and reconfigure VMware HA on that
host. 

B. Disable and then re-enable HA. 

C. Restart the management agents from the DCUI. 

D. Add a third vmnic to the management network on a vSwitch configured with NIC teaming. 

E. Right-click the host and click Reconfigure HA. 

Correct Answer: ABE 
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